
Set Notation 

 

𝐴 = {1, 2, 7, 8, 10} 

𝐵 = {1, 2, 3, 4} 

𝐶 = {2, 4, 6, 8} 

(a) List the elements of 𝐴 ∩ 𝐵 

(b) List the elements of 𝐵 ∪ 𝐶 

(c) Find 𝑛(𝐵) 

(d) Find 𝑛(𝐴 ∪ 𝐶) 

(e) 3 ∈ 𝐵. True or false? 

(f) 2 ∈ 𝐵 ∩ 𝐶. True or false? 

 

𝐴 = {𝑛, 𝑢,𝑚, 𝑏, 𝑒, 𝑟} 

𝐵 = {𝑒, 𝑞, 𝑢, 𝑎, 𝑙} 

𝐶 = {𝑠, 𝑖, 𝑥} 

(a) List the elements of 𝐴 ∪ 𝐶 

(b) List the elements of 𝐵 ∩ 𝐴 

(c) Explain why 𝐵 ∩ 𝐶 = ∅ 

(d) Find 𝑛(𝐵 ∪ 𝐶) 

(e) List the elements of 𝐴 ∩ 𝐵′ 

(f) 𝑑 ∉ 𝐴 ∪ 𝐵 ∪ 𝐶. True or false? 

 

𝜉 = {5, 6, 7, 8, 9, 10, 11, 12} 

𝐴 = {5, 7, 9, 11} 

𝐵 = {9, 10, 11, 12} 

(a) List the elements of 𝐴 ∪ 𝐵 

(b) List the elements of 𝐵′ 

(c) Find 𝑛(𝐵 ∩ 𝐴) 

(d) 10 ∉ 𝐵. True or false? 

(e) List the elements of (𝐴 ∪ 𝐵)′ 

(f) 11 ∈ 𝐴 ∩ 𝐵. True or false? 

(g) Find 𝑛(𝐴′ ∪ 𝐵) 

(h) List the elements of 𝐴 ∪ 𝐵′ 
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